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1.
Introduction
It is stated in TS 36.321[1] that:

· Uplink HARQ operation is asynchronous for BL UEs or UEs in enhanced coverage except for the repetitions within a bundle.
For BL UEs or UEs in enhanced coverage, the HARQ operation for Message 3 is asynchronous. According to the current HARQ mechanism, there may be a collision of HARQ process identifier between Message 3 and normal transmission. In this contribution, we will discuss this problem.

2.
Discussion
During contention-based random assess procedure, the UE will choose a HARQ process identifier to send Msg3 in the first time. At this time, the eNodeB is not aware of the HARQ process identifier that the UE selects. Therefore, the eNodeB may allocate the same HARQ process identifier for normal transmission if it receives UE’s SR for UL transmission. In this situation, HARQ process identifier will conflict between Msg3 transmission and normal transmission in the same TTI. 
According to TS 36.321: In asynchronous HARQ operation, HARQ process is associated with TTI based on the received UL grant. Each asynchronous HARQ process is associated with a HARQ process identifier. The corresponding HARQ process identifier to each HARQ process is indicated in each UL grant.
Thus, Msg3 transmission will be failed due to this collision of HARQ process identifier, as shown in Fig.1 A). 
Similar collision will also happen during the retransmission of Msg3 in UL asynchronous HARQ. After Msg3 failed, the eNodeB will send a PDCCH command with HARQ process identifier for Msg3 retransmission. During this procedure, eNodeB cannot identify which UE this command will be sent to before successfully receiving Msg3. Similarly, the eNodeB may allocate the same HARQ process identifier for normal transmission if it receives UE’s SR for UL transmission. Thus, the collision will happen when the eNodeB allocates the same HARQ process identifier for Msg3 retransmission and for the normal transmission in the same TTI , as shown in Fig.1 B).
In both transmission and retransmission of Msg3, collision of HARQ process identifier with normal transmission may happen. Even there is solution to indicate the HARQ process identifier for Msg3 transmission and retransmission, as proposed by us in [2], this collision problem still exists. 
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We think this is the case of contention resolution fail, which is un-avoidable for contention-based random access procedure. Thus, there is no need to do any enhancement.
Proposal: Consider the collision of HARQ process identifier between Msg3 transmission/retransmission and normal transmission as contention resolution fail case, and no enhancement is needed.
3.
Conclusion
In this contribution, we discussed the problem of HARQ process identifier collision between Message 3 and normal transmission. Based on the discussion, we propose:
Proposal: Consider the collision of HARQ process identifier between Msg3 transmission/retransmission and normal transmission as contention resolution fail case, and no enhancement is needed.
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